BK Albrekts
Bronzstegen Omg 3 2019-10-17

IMP over faltet, 28 bord, 56 par. Antal brickor: 12.

Plac Par Poéng Namn MID
202 3.71 Jan-Ake Ericsson - Carl-Olof Jagebro 10723 26790
101 3.60 Brita Alkhagen - Karin Ostbye 39742 92118
110 3.18 Carola Unosson - Kerstin Kagstrom 34164 45861
209 3.08 Sara Bengtsson - Ulla Hindsen 15829 19051
10 2.62 Per Sintorn - Sten Jonsson 36301 24089
314 2.44 Laila Laveno - Lena Jénsson 7106 53901
213 2.21 Birgitta Lindberg - Sonia Banghall 34160 42729
302 1.89 Maya Lo Bjork Heed - Andrea Nilsson 58763 58762
14 1.68 Els-Marie Kjellin - Eva Svensson 39104 37078
10 203 1.55 Villy Havasi - Agneta Svenberg 89205 26779
11 112 1.26 Ulla Johansson - Lennart Johansson 43750 43749
12 1 1.02 Britt-Marie Warborn - Bobbo Jovic 2783 48267
12 307 1.02 Gunvor Johansson - Arne Johansson 34152 63024
14 11 1.01 Inger Hedstrom - Anas Hejazi 84020 61046
15 104 0.92 Tomas Jansson - Jesper Pettersson 58679 65736
16 311 0.90 Pia Larsson - Kerstin Lundberg 50588 63029
17 106 0.65 Birger Hogberg - Gun Hogberg 89107 89106
18 105 0.62 Barbro Strémquvist - Anita Riccius 56835 18080
19 308 0.54 Marianne Ekman - Inge Karlsson 58676 58661
20 12 0.46 Stig Emblad - Hasse Roman 50601 44384
21 4 0.43 Jan Malmstrom - UIf Persson 2785 2787
22 303 0.35 Margaretha Fahraeus - Ulla-Karin Ericsson 53992 5316
23 109 0.30 Barbro Wulker - Birgitta Mansson 20947 20059
24 6 0.22 Nicklas Barman - Tove Roulund 60737 58234
25 207 0.16 Claes Borjesson - Erling Ohlsson 92022 87034
26 208 0.15 Kjell Svensson - Hans Andréasson 4250 8215
27 113 0.06 Maj Holmberg - Anders Richnau 45911 53991
28 205 0.04 Curt Andersson - Jan Lidholm 43281 10993
29 5 -0.04 Lars-Anders Callenberg - Birgit Callenberg 1601 12179
30 313 -0.06 Bodil Rehn - Maria Séderlund 60714 60715
31 8 -0.15 Gunilla Jern - Christina Frey 45624 46118
32 7 -0.16 Egon Osterbrand - Ulla Osterbrand 89890 89889
33 206 -0.22 Kjell Olsson - Ingrid Dahlin 45456 45452
34 309 -0.30 Birgitta Hjelte - Ulla Aberg 65698 65696
35 103 -0.35 Birgitta | Olsson - Jan Olsson 56442 56443
36 204 -0.43 Roger Hedskdld - Nils Svensson 92027 26780
37 212 -0.46 Licelott Hallman - Kristina Andersson 78606 48376
38 108 -0.54 Sigbritt Nilsson - Kerstin Gyllén 58752 58677
39 305 -0.62 Ludvig Strannabjer Melin - Hans Jénrup 64837 52945
40 306 -0.65 Jenny Myrendal - UIf Andreasson 62212 47041
41 111 -0.90 Kerstin Karlsson - Géran Sundqvist 45909 34167
42 304 -0.92 Bjorn Evertsson - Hugo Kaspersson 67261 59629
43 211 -1.01 Lars-Olof Carlsson - Manfred Bachmann 37071 26708
44 107 -1.02 Marzanna Baczynska - Kajsa EkIow 65306 65697
44 201 -1.02 Maja-Stina Lindgren - Inga-Britt Andréasson 2680 14841
46 312 -1.26 Anne-Maj Emblad - Agneta Lundh 48561 48375
a7 3 -1.55 Tage Ericsson - Per Fahraeus 5311 3010
48 214 -1.68 Ingrid Wackerberg - Ingegérd Nilsson 92023 53952
49 102 -1.89 Arne Helmersson - Ann-Sofi Helmersson 7286 60740
50 13 -2.21 Ann Ohnedal - Siw Svensson 53984 56262
51 114 -2.44 Kitty Bertilsson - Leela Pettersson 45868 79439
52 210 -2.62 Donna Diding - Peter Diding 15655 18298
53 9 -3.08 Berit Boos - Lena Martensson 50596 84025
54 310 -3.18 Bertil Stomgarde - Per-Olof Vilén 65695 56450
55 301 -3.60 Birgit Ekman - Anders Ekman 42256 42257
56 2 -3.71 Isis Lundqvist - Tiger Lundqvist 58765 58764
1 4852 Basta kontrakt 2 482 Basta kontrakt 3 4 EK10 Basta kontrakt
Nord v DKn963 44 O =-420 Ost v 9872 ANT O =-430 Syd v Kn987 5& V =-600
Ingen + 874 NS ¢ 732 ov + K104
#105 & ¢ v & NT #10754 & ¢ v & NT #KKn10 & ¢ v & NT
493 4EDKN104 N 2 3 7 3 6 4D1076 44 N2 2453 4 Kn « D63 N23565
v 1087 v5 S 23736 v Kn5 v EK106 S22 453 vE3 v K1062 S 235514
+Kn ¢+ EKD109 O 119 6 106 + E96 + KDKn85 O 10119 8 10 ¢+ D8763 ¢ EKn O 119 8 6 8
#KDKn7642 %98 V 109 6 106 #KDKn2 #963 V 10119 8 10 #97532 #ED84 vV 119 7 6 8
4 K76 & EKKn953 4987542
v EK42 v D43 vD54
¢ 6532 + 104 4952
#E3 ~E8 *6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1201 3NV-3 vQ 150 185.0 -185.0 {104 304 2NV -3 42 150 259.0 -259.0|101 301 24 N= v6 110 114.0 -114.0
105 305 3NV-3 vQ 150 185.0 -185.0 {101 301 4y O-2 4A 100 247.0 -247.0|104 304 24 N= v2 110 114.0 -114.0
10 210 4¢ O-2 vA 100 159.0 -159.0 (109 309 2NV = 48 -120 123.0 -123.0|108 308 2v N= +¢A 110 114.0 -114.0
106 306 3NV-2 3 100 159.0 -159.0 {113 313 3¢ O+1 #4A -130 121.0 -121.0(110 310 24 N= &4 110 114.0 -114.0
108 308 4# V-2 vQ 100 159.0 -159.0 {110 310 3v O= 4A -140 111.0 -111.0| 12 212 INO-1 47 100 114.0 -114.0
112 312 54D O-1 «A 100 159.0 -159.0 (111 311 3vy O= &A -140 111.0 -111.0|107 307 2v O-1 %6 100 114.0 -114.0
103 303 44 O-1 vA 50 125.0 -125.0| 14 214 3¢ O+2 A -150 110.0 -110.0 (111 311 2NO-1 ¥4 100 114.0 -114.0
110 310 2NV-1 3 50 125.0 -125.0 {106 306 3¢ O+2 #4A -150 110.0 -110.0| 3 203 24 S-1 vA -50 16.0 -16.0
4 204 3v N-2 ¢A -100 33.0 -33.0| 12 212 2NV +2 &8 -180 88.0 -880(| 5 205 24 N-1 v6 -50 16.0 -16.0
11 211 3v N-2 +¢A -100 33.0 -33.0(112 312 24 S-2 +A -200 76.0 -76.0( 8 208 24 N-1 v6 -50 16.0 -16.0
12 212 3«V= vQ -110 28.0 -280| 3 203 3NV= 48 -400 -56.0 56.0(106 306 24 N-1 ¢A  -50 16.0 -16.0
104 304 3&V= vQ -110 28.0 -28.0( 10 210 3NV= 48 -400 -56.0 56.0| 4204 INO= #2 90 -21.0 210
111 311 3¢ O= +vA -110 280 -280( 11 211 3NV= ¢9 -400 -56.0 560| 6 206 34S-2 vA -100 -250 250

BK Albrekts, Bronzstegen Omg 3 2019-10-17, sida 1 av 3




107 307 14 O+2 #A -140 40 -40|108 308 3NV= 48 -400 -56.0 56.0| 7 207 34S-2 vA -100 -25.0 25.0
113 313 24 O+1 vA -140 40 -40|114 314 5¢ O= #A -400 -56.0 56.0| 9 209 24 N-2 ¥2 -100 -25.0 25.0
7 207 44V +1 vQ -150 20 -20( 1201 3NV+1 8 -430 -79.0 79.0| 10 210 2v S-2 &6 -100 -25.0 25.0
8 208 34 O+1 vA -170 -20. 200| 2 202 3NV+1 48 -430 -79.0 79.0| 13 213 24 N-2 ¢A -100 -250 25.0
101 301 34 O+1 vA -170 -20.0 20.0( 4 204 3NV+l1 48 -430 -79.0 79.0( 14 214 24 N-2 v6 -100 -25.0 25.0
109 309 34 O+1 vA -170 -20.0 200| 6 206 3NV+1 48 -430 -79.0 79.0(103 303 24 N-2 ¥6 -100 -25.0 250
114 314 24 O+3 T -200 -36.0 36.0( 7 207 3NV+l1 48 -430 -79.0 79.0(109 309 34 S-2 3 -100 -250 250
3203 5#V= vJ -400 -158.0 158.0| 8 208 3NV+1 48 -430 -79.0 79.0|113 313 24 N-2 ¢J -100 -25.0 25.0
6 206 5#V= &5 -400 -158.0 158.0| 9 209 3NV+1 48 -430 -79.0 79.0( 2 202 4¢ V= &A -130 -48.0 48.0
13 213 5#V= vQ -400 -158.0 158.0( 13 213 3NV+1 48 -430 -79.0 79.0|102 302 3&#V+2 «A -150 -66.0 66.0
102 302 5#V= ¥3 -400 -158.0 158.0(102 302 3NV +l1 &4 -430 -79.0 79.0(112 312 44 N-3 +¢A -150 -66.0 66.0
2 202 44 O= vA -420 -1720 172.0|103 303 3NV+1 48 -430 -79.0 79.0|114 314 34V +3 #4A -170 -780 78.0
5205 44 O= vA -420 -172.0 172.0|105 305 3NV+1 48 -430 -790 79.0| 1 201 44S-4 ¢7 -200 -99.0 99.0
9 209 44 O= vA -420 -172.0 172.0|107 307 3NV+1 42 -430 -79.0 79.0| 11 211 2¢v S-4 4J -200 -99.0 99.0
14 214 44 O= <vA -420 -172.0 1720( 5 205 24DN-2 #K -500 -128.0 128.0|105 305 INDN-2 v6 -300 -160.0 160.0
4 4 Kn72 Basta kontrakt 5 » EK986 Basta kontrakt 6 4 Kn7 Basta kontrakt
Vast v2 6y V =-1430 Nord v D95 ANT S =630 Ost vD7 4¢ S =130
Alla ¢ KKn73 NS + KD108 ov + KD104
#DKn1042 & ¢ v & NT *6 & ¢ v & NT #EKn1074 & ¢ v & NT
« EK1064 483 N6 7111 47542 4DKn N 7 7 10109 2843 #EKD102 N 9 105 5 8
v EK74 vKn109853 S 6 7 1 1 1 vKnl0 vK8 S 8 8 101010 vK63 vKnl0954 S 9 105 5 8
+84 ¢+ E96 O 6 6 121110 ¢E432 9765 053233 +Kn83 ¢96 032873
*63 *E7 V 6 6 121110 #ED10 #98532 V53233 K982 &5 V43873
« D95 +103 4 965
vD6 vE76432 vE82
+ D1052 ¢+ Kn ¢ E752
#K985 #KKn74 *D63
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
112 312 3v V+1 #Q -170 263.0 -263.0( 3 203 4v S= +¢A 620 208.0 -208.0|101 301 5¢ N= &A 400 232.0 -232.0
101 301 INO+3 5 -180 263.0 -263.0( 4 204 4v S= +A 620 208.0 -208.0|105 305 34 O-3 49 300 179.0 -179.0
103 303 2v O+4 &8 -230 232.0 -2320( 7 207 4v S= vJ 620 208.0 -208.0| 1 201 34 O-2 #3 200 118.0 -118.0
110 310 4v O= #8 -620 6.0 -6.0| 10 210 4v S= &7 620 208.0 -208.0|110 310 24 O-2 +¢5 200 118.0 -118.0
3203 4vV+1l #J -650 -19.0 19.0| 11 211 4v S= ¢A 620 208.0 -208.0| 11 211 INS+3 %8 180 107.0 -107.0
4 204 4v O+1 #8 -650 -19.0 19.0(101 301 4v S= T 620 208.0 -208.0|106 306 4¢ N+1 «A 150 83.0 -83.0
6 206 4v O+1 ¢5 -650 -19.0 19.0|103 303 4y S= &7 620 208.0 -208.0| 4 204 4¢ S= 43 130 73.0 -73.0
10 210 4v O+1 #8 -650 -19.0 19.0(109 309 4y S= +2 620 208.0 -208.0 1109 309 3¢ N+1 «A 130 73.0 -73.0
11 211 4v O+1 #8 -650 -19.0 19.0|110 310 3NS= &7 600 198.0 -198.0| 5 205 2NN= &A 120 65.0 -65.0
12 212 4v V+1 92 -650 -19.0 19.0| 14 214 3v S+2 T 200 -10.0 10.0| 8 208 3¢ S= 43 110 55.0 -55.0
13 213 4v V+1l #Q -650 -19.0 19.0|113 313 2v S+3 T 200 -10.0  10.0| 12 212 2# N+1 «A 110 55.0 -55.0
14 214 4v V+1 5 -650 -19.0 19.0| 2 202 2v S+2 vJ 170 -31.0 31.0(112 312 3¢ S= vK 110 55.0 -55.0
104 304 4v V+1 #Q -650 -19.0 19.0( 13 213 2v S+2 vJ 170 -31.0 31.0(104 304 24 O-1 +2 100 49.0 -49.0
106 306 4v V+1 #Q -650 -19.0 19.0(105 305 3v S+1 &7 170 -31.0 31.0|113 313 24 O-1 3 100 49.0 -49.0
108 308 4v O+1 &5 -650 -19.0 19.0(106 306 24 N+2 &9 170 -31.0 31.0| 9 209 44 N-1 4A -50 -48.0 48.0
109 309 4v O+1 #8 -650 -19.0 19.0(107 307 3v S+1 +¢A 170 -31.0 31.0|107 307 INS-1 438 -50 -48.0 48.0
111 311 4v O+1 &5 -650 -19.0 19.0(108 308 3v S+1 +3 170 -31.0 31.0|114 314 3#N-1 «A 50 -480 480
1201 49 0+2 ¢5 -680 -47.0 47.0( 9 209 2NS+1 +2 150 -49.0 49.0| 13 213 44 N-2 «A -100 -89.0 89.0
2 202 49y O+2 #8 -680 -47.0 47.0| 12 212 INS+2 2 150 -49.0 49.0| 3 203 24 O= 45 -110 -920 92.0
5205 49 0O0+2 #2 -680 -47.0 47.0| 1 201 24 N+1 &9 140 -49.0 490| 6 206 24 O= &3 -110 -920 920
7 207 4vV+2 #Q -680 -470 47.0| 6 206 INS+1 2 120 -68.0 68.0|108 308 24 O= v2 -110 -920 92.0
8 208 4v O+2 #8 -680 -470 47.0| 5205 4¢vS-1 45 -100 -177.0 177.0|111 311 24 O= +¢2 -110 -920 92.0
9 209 4v O+2 ¢5 -680 -470 47.0| 8 208 44 N-1 42 -100 -177.0 177.0| 2 202 24 O+1 #3 -140 -1150 115.0
102 302 4v V+2 #Q -680 -47.0 47.0(111 311 3vS-1 &7 -100 -177.0 1770| 7 207 34 O= &Q -140 -115.0 1150
105 305 4v V+2 #Q -680 -47.0 47.0(112 312 4v S-1 &T -100 -177.0 177.0( 10 210 3v O= &3 -140 -115.0 1150
107 307 49y O+2 #8 -680 -47.0 47.0|102 302 44 N-2 4Q -200 -230.0 230.0( 14 214 3«4 V= &3 -140 -115.0 115.0
113 313 4v V+2 ¢7 -680 -47.0 47.0(114 314 3¢ N-2 &2 -200 -230.0 230.0(102 302 24 O+1 &3 -140 -115.0 1150
114 314 4v O+2 T -680 -47.0 47.0(104 304 3NS-3 44 -300 -273.0 273.0(103 303 34 O+1 #6 -170 -135.0 135.0
7 763 Basta kontrakt 8 «E3 Basta kontrakt 9 « D6 Basta kontrakt
Syd vD1082 6¢ V =-1370 Vast v9 5v V =-450 Nord v D95 7NT O =-2220
Alla +98 Ingen + KD98 ov + KKn74
#7632 & ¢ v o NT #Kn98765 & ¢ v o NT *K972 & ¢ v & NT
49542 48 N4 1354 & Kn2 « K875 N7 4254 « EK10542 4873 N15300
vK4 vE9763 S41354 vKKn1062 vEDA43 S7 4254 vKn v EK104 S15300
¢+ K765 ¢ ED104 O 8 12108 8 ¢ E653 ¢ Kn74 05 9 107 9 ¢ 853 ¢E2 O 118 9 1313
#EK5  #Kn108 V 8 12108 8 +D4 #EK V59117 9 #Kn104 #ED53 vV 118 9 1313
« EKDKn10 « D10964 «Kn9
v Kn5 v 875 v 87632
¢ Kn32 ¢ 102 + D1096
*D94 #1032 *86
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 210 4v O-2 «A 200 218.0 -218.0| 8 208 6y V-3 #6 150 235.0 -235.0|110 310 34 V+3 ¢7 -230 253.0 -253.0
102 302 3NV-1 43 100 162.0 -162.0| 1 201 4v O-1 +T 50 187.0 -187.0| 10 210 24 V+5 &7 -260 243.0 -243.0
11 211 14 S= #A 80 153.0 -153.0| 4 204 6y V-1 ¢K 50 187.0 -187.0| 14 214 INO+6 ¢6 -270 241.0 -241.0
108 308 14 S= &A 80 153.0 -153.0( 5 205 5v V-1 ¢K 50 187.0 -187.0 (101 301 3NO+1 ¢9 -630 29.0 -29.0
12 212 24 S-1 «A -100 36.0 -36.0( 6 206 6y V-1 ¢K 50 187.0 -187.0|107 307 3NO+1 ¢Q -630 29.0 -29.0
13 213 14 S-1 #A -100 36.0 -36.0( 14 214 4v V-1 «A 50 187.0 -187.0 {104 304 44 O+1 v2 -650 17.0 -17.0
103 303 14 S-1 «K -100 36.0 -36.0|105 305 4v O-1 T 50 187.0 -187.0 (108 308 44 O+1 ¢Q -650 17.0 -17.0
112 312 14 S-1 #A -100 36.0 -36.0(106 306 6v V-1 ¢K 50 187.0 -187.0 1 201 44 V+2 &7 -680 -8.0 8.0
113 313 14 S-1 #A -100 36.0 -36.0(112 312 4v O-1 49 50 187.0 -187.0| 5 205 44 V+2 ¥5 -680 -8.0 8.0
104 304 2v O= &A -110 32.0 -32.0(110 310 2v V+2 K -170 540 -54.0| 7 207 44 O+2 T -680 -8.0 8.0
5205 2NV= &7 -120 20.0 -20.0|113 313 3v V+1 «A -170 540 -540( 8 208 44 O+2 9 -680 -8.0 8.0
101 301 3¢ O+1 «T -130 13.0 -13.0| 2 202 4vV= &A -420 -95.0 95.0|103 303 44 O+2 #8 -680 -8.0 8.0
106 306 3¢ V+1 &7 -130 13.0 -13.0| 10 210 4y O= #2 -420 -95.0 95.0|106 306 44 O+2 ¢6 -680 -8.0 8.0
111 311 3¢ V+1 47 -130 13.0 -13.0| 11 211 4v O= T -420 -95.0 95.0|112 312 44 O+2 %6 -680 -8.0 8.0
107 307 2v O+1 &A -140 50 50| 12 212 4vy O= T -420 -950 95.0| 2 202 44 O+3 ¥2 -710 -33.0 33.0
109 309 2¢v O+1 «A -140 50 -50|101 301 4v O= T -420 -950 950| 3 203 44 O+3 #8 -710 -33.0 33.0
110 310 2v O+1 #A -140 50 -5.0|107 307 4v O= T -420 -95.0 95.0| 6 206 44 V+3 ¥5 -710 -33.0 33.0
4 204 2¢ O+3 «A -150 -3.0 3.0(109 309 4v O= T -420 -950 950( 9 209 44 O+3 ¢9 -710 -33.0 33.0
6 206 3¢ V+2 &7 -150 -3.0 3.0|111 311 4v O= &4 -420 -95.0 95.0( 11 211 44 O+3 #8 -710 -33.0 33.0
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7 207 3y O+1 &A -170 -16.0 16.0|114 314 4v O= T -420 -950 95.0( 12 212 44 O+3 #8 -710 -33.0 33.0
105 305 3¢ V+3 47 -170 -16.0 16.0( 3 203 4v V+l ¢Q -450 -123.0 1230 13 213 44 O+3 49 -710 -33.0 33.0
8 208 24 S-2 #A -200 -410 41.0| 7 207 4vV+1l &4A -450 -1230 123.0|102 302 44 O+3 ¢9 -710 -33.0 33.0
14 214 24 S-2 v4 -200 -41.0 41.0( 9 209 4y V+1 ¢K -450 -123.0 123.0|105 305 44 O+3 ¥8 -710 -33.0 33.0
1201 INS-3 46 -300 -107.0 107.0| 13 213 4y V+1 4A -450 -123.0 123.0(109 309 44 O+3 #8 -710 -33.0 33.0
9 209 24 S-3 #A -300 -107.0 107.0|102 302 4y V+1 ¢K -450 -123.0 123.0|111 311 44 O+3 ¢6 -710 -33.0 33.0
114 314 34 S-3 #A -300 -107.0 107.0|103 303 4v V+1 ¢K -450 -123.0 123.0 (113 313 44 O+3 #8 -710 -33.0 33.0
3 203 5¢ O= 4K -600 -262.0 262.0|104 304 4y V+1 &A -450 -123.0 123.0|114 314 44 O+3 ¢T -710 -33.0 33.0
2 202 4vy O= &A -620 -269.0 269.0|108 308 4v V+1 ¢K -450 -123.0 123.0| 4 204 64 V= ¢7 -1430 -344.0 344.0
10 4 Kn1053 Basta kontrakt 11 4 Kn7 Basta kontrakt 12 4 KD74 Basta kontrakt
Ost v Kn965 5NT O =-660 Syd vE10 3« SD-1-100 Vast v 1073 INTN =90
Alla + E86 Ingen + K1032 NS + K6
*K7 & ¢ v & NT #75432 & ¢ v & NT »K984 & ¢ v & NT
« EK982 4 D64 N2 4322 « D6 4 K10843 N8 856 6 4 Kn1032 4986 N7 6 6 67
vD8 v EK43 S 24322 vD9865 vKn432 S 88566 vE62 v KD95 S76667
¢ Kn7 + KD9 09 9 101011 ¢ E97 + D6 055876 ¢ EKN972 +D O6 6 76 6
&#ED43  #Kn82 vV 9 9 101111 #KD9 86 V55876 &5 #D7632 V66765
a7 & E952 & E5
v 1072 v K7 v Kn84
4105432 + Kn854 4108543
#10965 #EKn10 #EKn10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
104 304 6NDO-2 ¢2 500 281.0 -281.0| 6 206 3¢ S+1 4Q 130 140.0 -140.0 | 14 214 2NN+1 &6 150 107.0 -107.0
14 214 6v O-3 &7 300 199.0 -199.0| 10 210 3#N= ¥3 110 117.0 -117.0| 13 213 INN+1 49 120 83.0 -83.0
1201 64 O-2 %6 200 143.0 -143.0 (109 309 3¢ S= &K 110 117.0 -117.0| 6 206 2¢v» N= ¢Q 110 78.0 -78.0
4 204 64 O-2 ¢2 200 143.0 -143.0 (101 301 4v V-2 «4J 100 115.0 -115.0| 5 205 2v O-2 «4A 100 74.0 -74.0
5205 64 O-2 ¢2 200 143.0 -143.0| 12 212 3v V-1 ¢3 50 81.0 -81.0 1201 INN= 48 90 72.0 -72.0
6 206 64 O-2 T 200 143.0 -143.0| 14 214 2NV-1 +¢2 50 81.0 -81.0| 10 210 INS= 5 90 72.0 -72.0
7 207 6NO-2 +5 200 143.0 -143.0 (107 307 3v V-1 «4J 50 81.0 -81.0|111 311 2v O-1 &#T 50 43.0 -43.0
10 210 64 O-2 T 200 143.0 -143.0| 11 211 Pass 47.0 -47.0| 2 202 Pass -5.0 5.0
101 301 6NO-2 ¢2 200 143.0 -143.0 (111 311 Pass 47.0 -47.0| 3 203 Pass -5.0 5.0
102 302 6NO-2 ¢2 200 143.0 -143.0 1201 3¢ S-1 v5 -50 140 -14.0| 4 204 Pass -5.0 5.0
114 314 6NO-2 &5 200 143.0 -143.0| 5 205 INN-1 ¥2 -50 140 -140| 7 207 Pass -5.0 5.0
3203 6NO-1 #9 100 85.0 -85.0| 7 207 3¢ S-1 ¥5 -50 140 -140| 8 208 Pass -5.0 5.0
8 208 54 O-1 v2 100 85.0 -85.0| 13 213 4¢ S-2 ¥¢5 -100 -30.0 30.0( 9 209 Pass -5.0 5.0
11 211 54 O-1 &T 100 85.0 -85.0|103 303 5¢ S-2 #Q -100 -30.0 30.0| 11 211 Pass -5.0 5.0
105 305 54 O-1 #T 100 85.0 -850| 4 204 2vV= #J -110 -350 35.0| 12 212 Pass -5.0 5.0
110 310 54 V-1 ¢6 100 85.0 -85.0|110 310 2v V= 3 -110 -35.0 35.0(102 302 Pass -5.0 5.0
112 312 54 O-1 &7 100 85.0 -85.0| 2202 2vV+1 3 -140 -61.0 61.0(104 304 Pass -5.0 5.0
12 212 34 O+1 &6 -170 -53.0 53.0( 8 208 2vV+1 «J -140 -61.0 61.0|105 305 Pass -5.0 5.0
113 313 2NO+3 ¢2 -210 -620 62.0| 9 209 3vV= ¢2 -140 -61.0 61.0(106 306 Pass -5.0 5.0
106 306 44 O= 2 -620 -232.0 232.0(102 302 2v V+1 «J -140 -61.0 61.0(107 307 Pass -5.0 5.0
108 308 44 O= ¢5 -620 -232.0 232.0|104 304 3v V= 2 -140 -61.0 61.0(108 308 Pass -5.0 5.0
109 309 44 O= #T -620 -232.0 232.0|106 306 3v V= ¢K -140 -61.0 61.0(109 309 Pass -5.0 5.0
111 311 44 O= ¢2 -620 -232.0 232.0|108 308 2v V+1 2 -140 -61.0 61.0(110 310 Pass -5.0 5.0
103 303 3NO+1 ¢5 -630 -232.0 232.0|112 312 3v V= «J -140 -61.0 61.0(113 313 Pass -5.0 5.0
2202 3NO+2 ¢2 -660 -248.0 248.0|113 313 2v V+1 ¢K -140 -61.0 61.0(101 301 2NN-1 #2 -100 -81.0 81.0
9 209 5NO= ¢2 -660 -248.0 248.0| 3 203 INS-3 v6 -150 -63.0 63.0(103 303 INS-1 3 -100 -81.0 81.0
13 213 4NO+1 2 -660 -248.0 248.0(105 305 INN-3 43 -150 -63.0 63.0|112 312 14 N-2 K -200 -141.0 141.0
107 307 3NO+3 ¢2 -690 -258.0 258.0|114 314 4¢ S-3 ¢5 -150 -63.0 63.0(114 314 24 N-2 &2 -200 -141.0 141.0

BK Albrekts, Bronzstegen Omg 3 2019-10-17, sida 3 av 3




